
































































VERY SHORT ANSWER TYPE QUESTIONS

 – (x + 1) – c such that

– 10 – 5
 are 2 and – 3, then

 = – 7,  = – 1  = – 1
 = – 6  = – 6

 – 5

The number of polynomials having zeroes –3 and 5 is

²–1, then the value of (
–1

²–9 ²–4)


















































































































































































































































































































































































































































































































































































































